Questions for tests Topic 1.10 part 2 Basic cardiopulmonary resuscitation
1. Duration of clinical death is:

2. Complex of emergency measures taken to revive and restore vital functions of
the organism iscalled:

3. Traditional and long-time existing algorithm of CPR is “A-B-C scheme”,
offered by...:

4. In “A-B-C scheme” (alphabet of CPR),“B” means:
5. In “A-B-C scheme”(alphabet of CPR), “C” means:
6. In “A-B-C scheme”, (alphabet of CPR), “C” means:
7. Up-to-datesequenceofresuscitationprocedures (CPR) is:
8. What is not one of the main points of up-to-date CPR?
9. Duration of pulse assessment shouldn’t be longer than...seconds:
10. The depth of chest compressions is...:
11. The frequency of chest compressions is ...:
12. The depth of chest compressions for infants is...
13.There is a special maneuver for restoration of airway patency. Nameit.
14.What is the most common mistake during indirect cardiac massage?
15.Chest compression for children from 1 to 8 years is performed with:
16.Duration of one artificial inhale is:
17. Required respiratory volume during artificial lung ventilation is... ml:
18.Respiratory volume for newborns during artificial lung ventilation is...ml:

19.0ptimum combination of chest compressions and rescue breathing during
CPRs...:

20.Pausesbetweencardiacmassageandrescuebreathingshouldn’tbemorethan. . .:



